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Interactive Question

A weightlifter lifts a heavy weight over his head and then

sets 1t back down. The work that the weightlifter does on
the bar is:

A) Greater than 0 since he applies a force in the direction of the
displacement |

B) Equals 0 since the change in Kinetic Energy = 0

C) Equals 0 since he does not apply any force while lifting the bar

D) Less than 0 since the force he applies is opposite in direction to
the displacement

E) Equals 0 since the work he does in lifting the bar up is equal and
opposite to the work he does setting it down



Interactive Question

A weightlifter lifts a heavy weight over his head. The work
that the weightlifter does on the bar is:

A) Greater than 0 since he applies a force in the direction of
the displacement

B) Equals 0 since the change in Kinetic Energy = 0

C) Equals 0 since he does not apply any force while lifting the bar

D) Less than 0 since the force he applies is opposite in direction to
the displacement

E) None of the above
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